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13.

According to the model introduced by Dornbusch,
describe the time path to a new equilibrium exchange

rate when the country unexpectedly expands its money

supply. (10)
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Assume that the economy is hit by a permanent
negative aggregate demand shock. Use the 3 equation

model to give a detailed period by period explanation
of the adjustment process. (10)
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SECTION A
w@WUE &

Question 1 is compulsory. (15%2=30)

o 1 FREE #

(1) The bilateral spot exchange rates Between the
Bahraini Dinar (BHD) the Canadian dollar (Can$)

and the Russian Ruble(P) are quoted as follows:

Can$/B = 1.5
BHD/Can$ = 5
BHD/B = 7

If an arbitrageur starts with 50 Rubles, then how
much will he gain in a single round of arbitrage?

(a) 8.33

(b) 6.66
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1.

(%) R o Ja A
(@) siftreaw @1 ReR@E e

() faim dwe & FR

(a) Examine the role of portfolio adjustments in
exchange rate determination according to the

portfolio balance approach.

(b) Discuss the implications of an increase in the
expected appreciation of the foreign currency and

an increase in the risk premium on foreign bonds

in the extended portfolio balance model.  (6+4)

(%) aEwifomr dgem e & R, R e Fufor
¥ AR T B s A i AR

(@) fawRa Acwferd Iw Aew ¥ R 7@ &t snfem
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9.

10.

What are the limitations of conventional monetary

policy during a liquidity trap situation, and why? Derive

the LM curve in the presence of a liquidity trap.
(2+3)

T o fufy @ o awaRe ARw AR @ few
w1 ¥ IR FA 7 T Goled & IuRafy ¥ veew T W
FHiforgl

SECTION C

wug T

Attempt any 3 out of the following 4 questions. Each

question carries 10 marks. (3x10=30)

ffafag 4yl % ¥ B8 3 we = BW S YR
s 10 A @ Bl

Write short notes on the following : (10)
(a) Beggar-thy neighbour policy
(b) Hysteresis effect of overvaluation

(c) Reasons for the financial crisis
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(c) 3.57
(d) 5.43

T SR (Aead) weE dew (B9) AR W@
e (P) & 9w fRud wie R @ fFeefafea w0
%G@ﬁﬂi‘i:

Can$/P = 1.5
BHD/Can$ = 5

BHD/R = 7

IR FE AR-T0F 50 T ¥ JRW H@ T, A
FHR-90 & U IR A e @ gmn?

(=) 8.33
(@) 6.66
() 3.57
(%) 5.43

(i) What is the purpose of a crawling peg exchange
rate policy?

P10
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(a) To maintain a fixed exchange rate with
minimal adjustments.

(b) To depreciate the exchange rate at a rate
equal to the inflation differential.

(c) To allow the exchange rate to fluctuate
freely based on market forces.

(d) To stabilize the exchange rate through

government intervention.

Wi W1 e e A = 33w =W 27

(%) <Fen wwEE @ WY v Rfae A w®
TFAC T

(@) e & FW S wiged ® W Rt w
AT HEA

(1) WeR @it wieEa & R W AR ¥ wE
W ¥ JAR-Te@ F IR I

(u) "l Tew @ Wew @ R w W Rw
HEAl

(iii) A depreciation causes the trade balance to look
like a J because :

°
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)7.

e Fifow foh wwE ue § aRtads W IusieET @ wfafda
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¥ YOl T W IS WEN T D AW S e i)

Consider the change in the debt-GDP ratio equation.
Under what conditions do you think the country would
resort debt rescheduling/haircut/debt repudiation?
Explain the rationale behind why the countries would

opt for such mechanisms even when they are aware

about their consequences. (3+2)

T - SN ST e A goee W AR e e
FFER T aftfeufeal % Jw o gafieRor /e /3o aod
R A7 TR NS w T e g B 2w W a
F @ TR T IR W IR B AR ¥ uar B

“The commitment to maintain a fixed exchange rate
makes the money stock endogenous”. Explain this
statement in light of the Mundell Fleming model.

(%)
‘v fAfted R @ T @@ o afieear g5 WER @
Hesla S 271 RA W AT D e X 5@ wYA
e Fgl

1 4 7



5167 20 5167 5

4. Write short notes on: (a) The short term and long term volume effects
of trade adjustments run in the same

(i) Taylor’s rule in monetary policy. - diehatih’
(i) Monetary Rule in the three equation IS PC MR (b) The short term volume effects of trade

framework (2+3) adjustments are quite substantial and thus

outweigh the price effect.

frefafeaa w afta R fafew

(¢) The short term volume effects of trade

(i) #few A ¥ 2w = B

adjustments are quite small and thus do

. b sy t outwei i .
(ii) & weEol s G R @ ¥ Aew R ‘ ‘ not outweigh the price effect
(d) The long term price effects of trade
5. Describe the concept of cyclically adjusted deficit and adjustments offsets the volume effects.
its significance in fiscal policy evaluation. Briefly _
mention the steps in the construction of the cyclically TR F TR AR wge J wgw e 2
adjusted deficit. i (3+2)

(%) =R WA @ FerwieE 3R St A

THE T ¥ A U & HEUReT 3K aoEeg iR IEiR R e ey

AAHA A TS A8 1 U G| T T ¥ FARAITo ; ‘
o @ P @ ol R ¥ s Ak ‘ ) (@) =R T ® SR A e
| FEA B B AN T VEN qd U9 A il
6. Explain how the Ricardian equivalence proposition B &

suggests about how the consumers respond to changes ,
in government deficits. Explain the impact of high (1) R TG ® FeTHod A I HT

government debt on capital accumulation in the long ; B T T R W YER FE AWE A e
run. (3+2) @ B #

P.T.O.
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(9) =R TR & S qod IWE, JE AW
W w3 B

(iv) Assume that the current spot exchange rate
between the US dollar (USD) and the Euro
(EUR) is $1 = €0.90. Now, consider a three-
month forward exchange rate to be §1 = €0.88.

The € is available at a against the
US dollar :

(a) Forward premium of 8.88%
(b) Forward discount of 8.88%

(¢) Forward discount of 6.88%

(d) Forward premium of 6.88%

7 AR & FAReT SR (Fuad) sk @ (EUR)
& A T wte e = $1 =€0.90 21 3=, 99
wo & FRw B w # $1 = €0.88 WA

FARS R & e € W I B
() 8.88% = IR Mfaw

(@) 8.88% = IH T
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SECTION B
wug |

Attempt any 6 out of the following 8 questions. Each

question carries 5 marks. (6x5=30)

frafofaa 8 WAl ¥ ¥ = 6 woAl Y B FRwW RS
YT 5 e @ B

How does a devaluation of a country’s currency affect
its trade balance and aggregate demand? Use the AD-

AS framework to explain your answer. (5)

& A o 1w FAEEH, I AR A AR e AT
& DY YT w27 F9 I & IRl R & oy
AD-AS WWad & I9ENT Fifow

Briefly explain the difference between absolute and
relative purchasing power parity theories. In the light
of above, explain the Balassa and Samuelson effect.

(3+2)

e ik 9w wg i R @ 99 Fa S 98y
A GHEEY SWE B AeE A, T AR JGerET I
&t s Fifw
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(a) I-C,II-D, III-A, IV-B () 6.88% it IRW BT
(b) I-B,II-A, 1II-D, 1V-C (%) 6.88% = ™ Widaw

I-B,11-D, III-A, IV-C ; ; s e e
(©) (v) An investor in Tokyo is considering covered

(d) 1-C,II-A, TIL-D, 1V-B ) ) interest arbitrage between Tokyo and New York.
The investor observes the following :

fefafas &1 Ra SR Interest rate on three-month Treasury bills in
Tokyo: 2% per annum
1. a¢ q@E A. el 3R | *
) _ Interest rate on three-month Treasury bills in
1. 9 &t R B. 90MEd 9WE HEIH New York: 3% per annum
[ 9~ Reprel o C. WA= Hge 2 Ak Spot exchange rate: ¥110/$
g Three-month forward exchange rate: ¥111/$

IV. o 3R SAET D. wifee faw

What is the covered interest arbitrage margin

(CIAM) in percentage per annum?

(%) I-C,II-D, IlI-A, IV-B ) )

(a) -1.0%
(@) I-B,lI-A, 1II-D, IV-C

(b) -0.5%
() I-B,II-D, III-A, IV-C (c) -0.8%
(&) I-C,II-A, I1II-D, IV-B (d) -1.9%

P.T:0,
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2 ¥ v FaTs A ok =gt @ 9w wed e ¥ A W 900 W @Al R 1000 & uReafy B
FR -0 W R o @ B FRwe P amy #k ¥ B W 800 F IIRAT 3R 1000 F IFEARA
W I R | # A 3R B & I U WAL 3R
A ¥ A7 WA B 2 R W A 2% WA & R I Io i
af ) ) e e

=te ¥ 99 TN & IO e W ew @ 3% W ' (F) 10% R 20%; 10 3 5

EL] ' ‘

(®|) 11.11%, 25%; 9 3R 8
wie fafwa v ¥110/8

10% 3R 20%; 9 3R 8
o N N qfw R = ¥111/8 ()

iy 9 Wi ¥ was = s i (@srde) () 11.11%, 25%; 10 3 S
a1 87
(xv) Match the following :
(w) -1.0% 4
I. Robert Lucas A. Deficits and debts
(@) -0.5% ) )
II. John B Taylor B.- Surprise Supply function
(3r) -0.8%
I1I. Barro- Ricardo C. Monetary Approach to
(&) -1.9% ' _ proposition Balance of Payments

, ¢ g 1% i - IV. Mundell and Johnson D. Monetary rule
(vi) Which of the following is NOT a limitation of !

the absolute purchasing-power parity theory?

P.T..
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AW e woed 2, 5w sl S (a) It ignores the capital account
2 S o T T AR 2, W S B WA o T (b) It does not consider non-traded goods and
BW A T wR X T wRadw B services
(T:F) AP/P = AW/W — Ad/o (c) It fails to account for transportation costs
) ) (d) It accurately predicts exchange rates in all
(@) AP/P = AW/W — A8/5 Uik
() AP/P = AS/5 — AW/W . :
Frfafem ¥ ¥ o9 of oo -l s Reia o G
(q) AP/P = AS/5 - AW/W i 27

(%) 98 goit @™ @ JUe e
(xiv) Bank A has liabilities of 900 and assets of 1000

and Bank B has liabilities of 800 and liabilities (@) a8 R-=maRes TEA IR WA W RAER E
of 1000. The capital ratio of A and Bare T 2

and respectively; and their leverage :

ratios are and respectively. (1) 7& aRee wee @ Raw 37 A fww w2

(%) 7 ot Rufal ¥ Rfve @ 9 wde wisgah
T B

(a) 10% and 20%; 10 and 5 ) )

(b) 11.11%, 25%; 9 and 8

(6} 10% adid 20%: 9 snd: 8 (vii) What is the primary effect of open market sales
c o an 0; 9 an

of government securities by the home nation’s
(d) 11.11%, 25%: 10 and & monetary authorities in the portfolio balance

approach?

LY g LA
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(a) Decreased interest rates in the foreign

country
(b) Appreciation of the domestic currency
(¢) Increased demand for foreign bonds
(d) Reduced risk premiums on domestic assets
AR Fger g W W B A wRrEHRA

2wl @t e Ao ¥ [t & et

W @ 27

() Fw ¥ ww @ A A
(@) e 31 ¥ Fghe
(1) foRd @il @ W Wi

(41) ey TRERE W e A A w0

(viii) How does the debt-to-GDP ratio change over

time if the primary deficit is zero?

(a) It decreases at a rate equal to the real

interest rate

5167

(xiii)

15

T A, U o) B weo 80 T e B T g
H aie NG R w1 e S e W= A 2
i} Iew & o A W X T FaA A 10% JRehi
B 2, wefh T @ Y A 3W H YR 20%
B 2, & = fafem w F B

(=) 160
(a)sizs
(31) 40

(a)7333

Assume that W is the money wages, & is the
productivity per worker and o is the margin
charged, what would the change in price level

be assuming the margin a to remain the same

(a) AP/P = AW/W — Aa/a
(b) AP/P = AW/W — Ad/d
(c) AP/P = A8/86 — AW/W
(d) AP/P = A8/ — AW/W

PiT0;
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" (c) Crashed

(d) Teaser

W qUE B T W H A ¥ AR B W 2, /A
qUE W wE o #

(=) W
(|) ststarey
() #w
() drsm

(xi1) At present 80 rupees exchange to a dollar. These
currencies are assumed to be following the
relative PPP theory. What would the new
exchange rate be in case the country with dollar
as currency witnesses 10% inflation in this period

as against the one with a rupee and inflation of
20%.

(a) 160
(b) 87.28
(c) 40

(d) 73.33

5167 11

(b) It increases at a rate equal to the growth

rate of output minus the real interest rate
(c) It remains unchanged

(d) It increases at a rate equal to the real

interest rate minus the growth rate of output

afe wafE e 3 2 @ - - NN e e
% WY HA yRafda @ar 27

(%) 78 aFfds &AW W & TWH W W uedr 2

(@) 7% Ioes A gfg W ¥ TElE AW R B
e & §WH W Y dgar #

(31) @& aRaffa war 2

(@) 9% awdfas = R/ ¥ IAET & gfe W D
T B WA o ¥ wedl 8 |

(ix) Unless satisfied domestically, an excess demand

of money would result in an of reserves,
or a balance of payments under the
fixed exchange rates and a under flexible

exchange rates.

P.T.0.
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(x)

12
(a) inflow, surplus, appreciation
(b) outflow, deficit, appreciation
(c¢) outflow, surplus, depreciation

(d) outflow, deficit, depreciation

WE 7% Wel W W g A B, 1 A qfiew wa

& gRumrERT ___ WUeR @0 a1 foew fafm
AT WA Agee AR adten e o
® d8d _______ Bhm

() s, e, Fergfe
(w) e, e, e
() afedie, SR, qeaw@
(ﬂ) afealle, wrer, FeaEr

In year 1, the debt of Y has been incurred by
Tanmania. It intends to repay the outstanding
debt fully in year 2. Given the interest rate of
w, what should the primary surplus in year 2

be?

13
(a) (1+w)
(b) (1-w)Y
(c) (1-w)
(d) (1+w)Y
af 1 ¥, FSE WY W w8 T 31 € e
af 2 ¥ THET WU AW Y TWE A GEA F 2w

e W/ W gftewa, af 2 ¥ wafie sftew e B
=fee?

(&) (1+w)
(@) (1-w)Y
() (1-w)

(") (1+w)Y

(xi) When the value of the mortgage exceeds the

value of the house, the mortgage is said to be

(a) Ninja

(b) Underwater

PO,



